Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$29,636,213.07	\$28,504,559.06
Contributions	\$21,000.00	\$192,645.43
Withdrawals	(\$125,000.00)	(\$625,000.00)
Transfers In/Out	\$0.00	\$0.00
Income	\$22,161.67	\$79,748.27
Administrative Expense	(\$405.18)	(\$2,356.90)
Investment Expense	(\$648.14)	(\$6,294.54)
Investment Manager Fees	(\$33.66)	(\$1,073.06)
IFA Loan Repayment	\$0.00	(\$22,338.77)
Adjustment	(\$81,476.72)	(\$81,476.72)
Realized Gain/Loss	\$76.10	\$9,610.89
Unrealized Gain/Loss	(\$414,850.40)	\$1,009,013.08
Ending Balance	\$29,057,036.74	\$29,057,036.74

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.84%	N/A	N/A	N/A	N/A	1.27%	08/01/2022

GRAYSLAKE POLICE PENSION FUND

Fund Name:

Transition Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$61.59	\$3,562.44
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$60.54)	(\$3,710.51)
Income	\$0.22	\$4.42
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$1.24)	\$114.88
Unrealized Gain/Loss	(\$0.03)	\$28.77
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	6.787	408.044
Unit Purchases from Additions	0.000	17.316
Unit Sales from Withdrawals	(6.787)	(425.359)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit	\$9.073836	\$8.731284
Period Ending Net Asset Value per Unit	\$0.000000	\$0.000000

Performance Summary:

GRAYSLAKE POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	08/09/2022

GRAYSLAKE POLICE PENSION FUND

Fund Name:

IPOPIF Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$29,636,151.48	\$28,500,996.62
Contributions	\$21,000.00	\$192,800.00
Withdrawals	(\$125,000.00)	(\$625,000.00)
Transfers In/Out	\$60.54	\$3,555.94
Income	\$22,161.45	\$79,743.85
Administrative Expense	(\$405.18)	(\$2,356.90)
Investment Expense	(\$648.14)	(\$6,294.54)
Investment Manager Fees	(\$33.66)	(\$1,073.06)
IFA Loan Repayment	\$0.00	(\$22,338.77)
Adjustment	(\$81,476.72)	(\$81,476.72)
Realized Gain/Loss	\$77.34	\$9,496.01
Unrealized Gain/Loss	(\$414,850.37)	\$1,008,984.31
Ending Balance	\$29,057,036.74	\$29,057,036.74

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	2,972,509.714	3,005,208.408
Unit Purchases from Additions	2,140.941	20,088.269
Unit Sales from Withdrawals	(20,763.336)	(71,409.359)
Ending Units	2,953,887.318	2,953,887.318
Period Beginning Net Asset Value per Unit	\$9.970077	\$9.483855
Period Ending Net Asset Value per Unit	\$9.836881	\$9.836881

Performance Summary:

GRAYSLAKE POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	0.30%	08/19/2022

Statement of Transaction Detail for the Month Ending 05/31/2023

GRAYSLAKE POLICE PENSION FUND

Trade Date	Settle Date	Description	Amount	Unit Value	Units
Transition Pool					
05/25/2023	05/26/2023	Transfers Out	(60.54)	8.919671	(6.7873)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	(81,476.72)	9.970077	(8,172.1255)
05/12/2023	05/15/2023	Redemptions	(125,000.00)	9.927560	(12,591.2107)
05/24/2023	05/25/2023	Contribution	21,000.00	9.837097	2,134.7761
05/25/2023	05/26/2023	Transfers In	60.54	9.820810	6.1645